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General Instructions :

L. All questions are compulsory.

2, The question paper consists of 34 questions divided into four
sections A, B, C and D.

& Section A contains 10 questions of 1 mark each, which are multiple

choice type questions, Section B contains 8 questions of 2 marks
each, Section C containsl0 questions of 3 marks each and Section D
contains 6 questions of 4 marks each.

4 There is no overall choice in the paper. However, internal choice is
provided in one question of 2 marks, three questions of 3 marks and
two questions of 4 marks.

5. Use of calculators is not permitted.

Qg A
SECTION A

YT G 1 @ 10 d%F Jod I3 1 37 F1 81 39 51 7 Jedeh 999 & [o18 =R faaey faw
T 8, 574 & %9t U el & | @8 fahed g

Question numbers 1 to 10 carry 1 mark each. For each of these questions four
alternative choices have been provided, of which only one is correct. Select the
correct choice.

1. FREfFwl g +ay+3=0 A7+ +b=0FTH YA 1 2, Al ab TERE :
' 7
A): 3 55 s
(A) | (B) >

(C) 6 D) =3
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~ equals:

Ay .3 (B) - L
(A) o .
(C) -6 (D). -3
T 20 o0 ITghd G 1 AME ¢ :

(A) 100 (B) 210
(C) 400 (D) 420
The sum of first 20 odd natural numbers is :

(A) 100 (B) 210
(C) 400 ' (D) 420

If 1 is a root of the equations a*+ay+3=0andy* +y+ b=0, then ab

3 18, A ABC 3l YsITd AB, BC 99T CA & g4 &l Al fog P, Q @R
W WY A &1 I PA = 4 9eft, BP = 3 4t @1 AC = 11 @i 2 91 BC

was (T ) B N

(A) 11 _

(B) 10 P s
©) 14 VRSV
) 5 3 P 1

In Fig. 1, the sides AB,; BC and CA of a triangle ABC, touch a circle at P,

"~ Q and R respectively. If PA =4 ¢cm, BP = 3 cm and AC = 11 cm, then the

30/1/1

.leng.th of BC (incm) is :

i 1]
(B) 10
(C) 14

(D) 15

[P.T.O.
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3T 2 #, U g9 A EDF %1 < DF &1 H T ¥9% 3T g T YAl ED a9
EF ! 9@ W A9 K 91 M W T991 e ¢ | 9fd EK = 9 ¥t &, a A EDF &1
utemmy (aefi #) 2
(A) 18

(B) 13.5
)12

O) 9 T 2

In Fig 2, a circle touches the side DF of A EDF at H and touches ED and

EF produced atK and M respectively. If EK = 9 cm, then the perimeter of

A EDF (in cm) is :

(A) 18
(B) 135
€y 12
(D) 9

Fig. 2

a3 el cragea Ao % smar i e @ s 9 R sy, sate S aw
T2, T 39 TR U1 e o TG a9 Jol oo o HFa | 3T 2 :

(A 1:2 . (B) 2:1
(€) 1:4 | (D) 4:1

If the radius of the base of a right circular cylinder is halved, keeping the
height the same, then the ratio of the volume of the cylinder thus obtained

to the volume of original cylinder is :

{A). 12 B) 2:1
(C) 1:4 (D) 4:1
4



6. - AMG TH g 1 &%er 10 Tt quT 24 Feft S AT I FWAI ok SABCAT b AT
TR E, AT IA w1 A (FHH) 22
A) 34 (B) 26
©) 17 (D) 14

If the area of a circle is equal to sum of the areas of two circles of
diameters 10 cm and 24 cm, then the diameter of the larger circle (in cm)
1S :

((A)- 34 (B) 26

(C) 17 (D) 14

. e TR 1 Taer it W aet BT ) werd, FoR S V3 R, @

T IAIA R R
(A) 45° (B) 30°
(C) o60° (D) 90°

The length of shadow of a tower on the plane ground is V3 times the

- height of the tower. The angle of elevation of sun is :

(A) 45°
(B) 30°
(C) 60°
(D) 90°

3. e e Peeh v R B i (2, 3) & o v 3 i
(2, 5) %, o o =ume % gE R Rdwiw & - '

(A) (-6,7), ®B) (6,-7)
(€) (6,7) (D) (-6,-7)

30/1/1 5 [P.T.O.



10.

30/1/1

If the coordinates of one end of a diameter of a circle are (2, 3) and the

coordinates of its centre are (—2, 5), then the coordinates of the other end of

the diameter are :

(A)
(B)
(©)
(D)

(=6,7)
(6, =7)
(6,7)
(=6,-7)

- fag p =it fagatt A1, 3) @1 B(4, 6) %1 fHe™ aTel TW@ue = 2 : 1 % 3Tgamd §

oS st 7, o Frawme 2

(A)

(B)
©
(D)

2,4
3,5)
(4,2)
(5,3)

The coordinates of the point P dividing the line segment joining the points

A(1,3)and B(4, 6) in theratio2 : 1 are :

(A)
(B)
©)
(D)

(2,4)
(3,3)
(4,2)
(5,3)

31 UTH Ueh T 3BT T | ST YTE] I Teh B T oh 3T ol Uifdrehar g :

(A)

(©)

= o

1 1
(B) S



Two dice are thrown together. The probability of getting the same number
on both dice is :

1 1

(A) > | (B) 3

1 1

(©) z (D) o
Wis o

SECTION B

T GEIT 113 18 TF TAF Go & 2 IIF 8

Question numbers 11 to 18 carry 2 marks each.

11. _k%agmmaﬁﬁqﬁqaa%qﬁwmﬂwfwkwk:o%ww%|

Find the value(s) of k so that the quadratic equation x* — 4kx + k = 0 has

equal roots.

12. i 3ot arefl 37 Gt WTehd STt i 1Tkt I SIS, ST 11 % OB |
Find the sum of all three digit natural numbers, which are multiples of 11.
13. {3 4, U =@ fag P @ g O aTet &1 "ehs! i, foreht Breamd g aft o

5 UHY g, 9 97 1@Td PA 99T PB @iHEl TE €1 I AP = 15 9Hi & a BP I
EIERIGE S |

=

30/1/1 7 [P.T.O.



Tangents PA and PB are drawn from an external point P to two concentric

circles with centre O and radii 8 cm and 5 cm respectively, as shown in

Fig. 3. If AP = 15 cm, then find the length of BP.
A _

>

Fig. 3
14. TF 4 H, TF GEIEETE A ABC, S AB = AC ®, T& 31 & UioTa ¢ | firg
Fhiferg T waet forg P 31maR BC %1 wmfgysH a2 |

e 4
YA
TP 5 H, 3 Fehal I, [T 5 O 8, § ¥ a8 Jq 1 {11 AB, Bl Ia Hl
%gcmwﬁm%|%aﬁﬁq%Ac=CB.

30/1/1 -8



In Fig. 4, an isosceles triangle ABC, with AB = AC, circumscribes a circle.

Prove that the point of contact P bisects the base BC.

A

OR

In Fig. 5, the chord AB of the larger of the two concentric circles, with
centre O, touches the smaller circle at C. Prove that AC = CB.

Fig. 5
: 1
15. U 3Tt &1 ST 2425~ o9 9t 3| 3HH 9% YEE &% F1a it |
22 '
[n :7eﬂﬁrq ]
1
The volume of a hemisphere is 24255 cm’. Find its curved surface area.

22
Usent=—
[ 7]

30/1/1 9 [P.T.O.



16.

3 6 H, OABC U & & fSmrht et 7 aft 81 OAPC %% O 9t 39
agﬁﬂ%lwﬁa%aw%mmaﬁﬁm[ﬁgm]

L& B
0 A
a 6
In Fig. 6, OABC is a square of side 7 cm. If OAPC is a quadrant of a circle
_ | o 22

with centre O, then find the area of the shaded region. [Use © =—;7—]

C B

O A

Fig. 6

17.

18,

30/1/1

Ifs W fog A(0, 2) f1g=t B(3, p) @ C(p, 5) ¥ 99gEY 8, @l p &1 4H I1d
Hif | £ . | '

If a point A(0, 2) is equidistant from the points B(3, p) and C(p, 5), then
find the value of p. |

YUY 50 YTehd ST H JIGeAT Ueh T AT 715 | TTHyehdT F1a shiferg 6 =g
AT 3 3 4 FHT IO 7| '
A number is selected at random from first 50 natural numbers. Find the

probability that it is a multiple of 3 and 4.

10
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SECTION C

TS GEIT 19T 28 TF JAF T F 3 HF &

Question numbers 19 to 28 carry 3 marks each.

19. = TUEA HINT : 4x®— dax + (azé b)=0
FHAAT ;
.r%]%i'qgﬁﬁﬁﬂ'q: 3x2—2\/gx+2=0
Solve for x : 4x*— 4ax + (= b*) =0
OR
Solve forx : 3x*—2/6 x +2=0

20. Tog i for Tt = 3 afora s awiar Srqads ves aregys 2 Bl
trart
forg FifSie T 99 % ufora s+ Igs it TFg@ YSTd s T T 0T AN
FA 2|
Prove that the patallelogram circuriscribing a circle is a thombis.

OR :
Prove that opposite sides of a quadrilateral circumscribing a circle subtend

supplementary angles at the centre of the circle.

21, T GHH B ) T it R gt (0 % sifafad) 6 Ot qen s
ﬁéﬁﬁlm@mﬁw?ﬁmaﬁﬁqﬁm!ﬁgﬁr@ﬁq@ﬁgﬁﬁw

30/1/1 11 [P.T.O.



Construct a right triangle in which the sides, (other than the hypotenuse) are

of length 6 cm and 8 cm. Then construct another triangle, whose sides are

= i i ; :
T times the corresponding sides of the given triangle.

23, aﬂ?ff%r?ﬁ PQ AT AB g O 1 FH: Breanedt 7 9wt g 3.5 it A A
TRl I Sl 99 B | Al £ POQ = 30° &, Tl BIATIhA &3 1 &A% [1d ehiTid |

22
[m *7?’&%@]

In Fig. 7, PQ and AB are respectively the arcs of two concentric circles of
radii 7 cm and 3.5 cm and centre O. If £ POQ = 30°, then find the area of

22
the shaded region. [Use m'= 7]

N

Fig.7. -

23. 7 Ol ST 9T 12 UHY YR S A9 9Tl U 31 S § ° IH e o I
TG AT Ush FETehR Wiel 1e foran ST | 919 5= 31 o1 Fod Y8 &l

W?ﬁﬁm[n=%§'€ﬁﬁm

30/1/1 12



AU

32 Wt St 37K 18 Tt SR Fiean aref UF Ao R ael W H W gE 21 3
12 1 Yl T @Te! foran STan 2 3R 396 3 1 U TR el a1 St 2 |
7f3 sTaaTer @8 i FAE 24 Ui B, @ 3@ 2 H B v o F=ng wma

Hifsa |

From a solid cylinder of height 7 cm and base diameter 12 ¢m, a conical

cavity of same height and same base diameter is hollowed out. Find the

total surface area of the remaining solid. [Use = 7]

, OR
A cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled
with sand. This bucket is emptied on the ground and a conical heap of sand
is formed. If the height of the conical heap is 24 cm, then find the radius

and slant height of the heap.

24, UF ATeRsd & R #, v E o # e 3 S % 3eEa i 450 aon
30° 2 | I STETSit < o= =1 g8 200 Hi 7, A1 T52E13H 6l HaTs T1d hiterg |

The angles of depression of two ships from the top of a light house and on
the same side of it are found to be 45° and 30°. If the ships are 200 m apart,
find the height of the light house:

25. f9gsti A(3, —5) @M B(—4, 8) &I TieT aTet [@rave @i fog P 36 Yerr fawrfsma
e & %}fi:% 3| uf2 firg P YT x + y = 0 W R R, & K 1 HH I

e

30/1/1 13 [PTO:



26.

27.

28.

A point P divides the line segment joining the points A(3, —5) and B(—4, 8)

AP K
such that S — e If P lies on the line x + y = 0, then find the value of K.

afe foret frge & il f9g (1, -3), (4, p) T (-9, 7) B AT THHT &S 15
m%?ﬁpaﬁmwﬂ‘@m!

If the vertices of a triangle are (1, —3), (4, p) and (-9, 7) and its area is
15 sq. units, find the value(s) of p. '

Qmaa%ﬂ 100 T TT % 1S, 200 T T % HTE a1 50 it T % FE & |
R 1 & AT O TS P T | SR T S 2 e e
T (i) e 2 (i) e 78 2 (iii) 7 e & R T 2 e

A box contains 100 red cards, 200 yellow cards and 50 blue cards. If a card

is drawn at random from the box, then find the probability that it will be

(1) a blue card (ii) not a yellow card (iii) neither yellow nor a blue card. '

TS GHTR A 1 17 91 98 36 wéciqa%ggﬁﬁs 3tk 71 9 38 At =
11 9792 43 B, 1 30T n 91 U8 F1d il |

The 17th term of an AP is 5 more than twice its 8th term. If the 11th term
of the AP is 43, then find its nth term.

Tus g
SECTION D

TS GEIT 29 © 34 T TAF T 4 3F 8

Question numbers 29 to 34 carry 4 marks each.

29.

30/1/1

T GHMAR X 80 H & Tieh wiedT 8 | A 3o 3o TRt 4 geash siferes @l
Erdll Al Teieh J&ioh ol ATTA Uah &1 %0 2t | ST it o6 geprar 3 fopert
o TG |

14



Jreran
31 EA1F] AN 9 & TAT 3k Gohal &l A0 % 2, T T 91a i |

A shopkeeper buys some books for ¥ 80. If he had bought 4 more books
for the same amount, each book would have cost ¥ 1 less. Find the number

of books he bought.

OR
The sum of two numbers is 9 and the sum of their reciprocals is 3

Find the numbers.

30. U GHT U & UUH 14 TS 1IN 1505 & AT THHRT UAH IS 10 B | 39 A 1
25 91 98 F1d i |
Sum of the first 14 tcfms of an AP is 1505 and its first term is 10. Find its
25th term.-

3. fors B B g 3 P fig e 7 et e, et g @ o el B
ENGIE |
YT
T ¥ % AR Uk Sy ABCD @i | frg Shifs

AB+ CD=AD + BC.
Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.

OR

A quadrilateral ABCD is drawn to circumscribe a circle. Prove that

AB+CD=AD+BC.

30/1/1 15 [P THO.



32.

33.

34.

30/1/1

TS 3, A W ARG Tk F o R H ¢, 98 SH1 o TER Hl
freem 3.5 At 2 7o v ) et S 9.5 A 31 3 T IR T AR

[n=%?ﬁﬁf‘l]l

A solid is in the shape of a cone surmounted on a hemisphere, the radius of

each of them being 3.5 cm and tﬁe total height of solid is 9.5 cm. Find the

volume of the solid. [Use = o} ].

T A1e2l U WS o o1 o kR h1 7, TSem 28.49 oftet arit o1 wemett 2|
Ifs g0 gamehr B it reard 28 Tt g 21 T 2, af Sedt i S 719

Eﬁﬁm[mz—faﬁﬁm]

A bucke_t is in the form of a frustum of a cone and it can hold 28.49 litres of |

water. If the radii of its circular ends are 28 cm and 21 cm, find the height

of the bucket. [Use t = 2?2 i

Tk YRTE! Y T F1 UF TR F 9 ¥ 39T FHI01 60° 2 a9 TR F B g
W@%mwmaﬁmm%mﬁiﬂmeﬁ“ﬁéso?ﬁaﬁmzﬁm_
EIcEEAE

The angle of elevation of the top of a hill at the foot of a tower is 60° and
the angle of depression from the top of the tower of the foot of the hill is
30°. If the tower is 50 m high, find the height of the hill. '

16



